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Written Question #1 A positive charge ¢ experiences electric forces from two other
positive charges, go and g3. All three have the same amount of charge (1 = g2 = ¢3).
The three figures below show ¢, ¢, and the direction of the net force on g1 due to
both ¢; and ¢5. Add to each figure the location of g3 such that the net force has the
direction given. For full points, you must have g3 at the correct distance from ¢, show
how you calculated that distance, and include an explanation of how you determined
your answer. Note: There are actually many different possible answers to each of these.

Give yourself a break and find the easiest solution.

(a) (b)

()

, q1
Qj% 3 )




